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11m4 Maths Test No 1 29% Feh 2008 Arithmetic and Algebra -

1) Write the answer to (2.3 X 105>+(1.4 X 10"’) correct to 3 significant figures

2) Express 0.7é as a fraction in simplest form
3) Add together: \/27 +-/48

4) Expand and simplify: (3 -243 )2

5) Express with a rational denominator:

If x=242-7, simplify x? +;17

7) Expand and simplify: (2x- 3)(x2 +2x+ 3)

2
J5-1

8) Expand and simplify: (2x~ 1)3
9) Factorise: x’ +4x+4—43?
10) Factorise: x* —8y?

11) Factorise: x? +9x-36

12) Factorise: 6x* +5x—14

13) Factorise: 7x? +18x—25

2x—-2
14) Simplify:
) plify 3x —3x?
15) Simplify: 2 + 3

Xt =1 x? +x-2

16) Solve for x: g-%”u =0

17) Solve for x: x> ~%-72=0

18) Solve for x as a simplified surd: 4x* —25 -1=0
19) Solve for x and y if: X+2y+2x—y =5+/5
, Solve for x: 5x—x>>0

@Solve for x: [2x+5|=x-3

22)Factorise: 3* +12*

23) Solve for x: 8! = 43+

24) Solve for x: 2% >1
x—
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